% % % .&. %‘ YMHOXbTE JIeCITUUHBIE JPOOH Ha OTpULIATENIbHbIE
CTEIIEHU JECATH.

WUms: Jata: ___ Ouenka:___
1834,2 x 0.01 = 6744, 5 x 0.0001 =
5711,6 x 0.01 = 3070,1 % 0.001 =
6261,9 x 0.01 = 2396,4 x 0.1 =
4431,4 x 0.1 = 6508,5 x 0.1 =
7183 x 0.0001 = 1932,5x0.01 =
2834,2 % 0.001 = 3602,4 % 0.1 =
6025 % 0.0001 = 4433,4 x0.01 =
9127,3 x 0.01 = 4937 x 0.001 =
6791,9 x0.01 = 1159,5 % 0.001 =
2510,1x0.1 = 6566, 7 % 0.001 =
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W % ﬁ ‘3_4. ' YMHOXKBTE IECITUYHbIE APOOH HA OTPUIATEIbHBIC
i CTEIIEHU JIECSTH.

Pws: Jata: ____ Ouemka:
1834,2 x 0.01 = 18.342 6744,5 % 0.0001 = 0.67445
5711,6 x0.01 =57.116 3070, 1 x0.001 =3.0701
6261,9 x 0.01 = 62.619 2396,4 x 0.1 = 239.64
4431,4 x 0.1 = 443.14 6508, 5 x 0.1 = 650.85
7183 %< 0.0001 = 0.7183 1932,5x0.01 = 19.325
2834,2 x 0.001 = 2.8342 3602,4 x 0.1 = 360.24
6025 % 0.0001 = 0.6025 4433,4 x 0.01 =44.334
9127,3 x0.01 =91.273 4937 x 0.001 = 4.937
6791,9 x0.01 =67.919 1159,5 %x0.001 = 1.1595
2510, 1 x0.1 =251.01 6566,7 < 0.001 = 6.5667
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